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Quarterly Examination 2019
Class- X

Time- 3 hrs. Subject- Mathematics - [M.M.-100)
Instructions:-
1. All questions are compulsory.
Question numbers 1 to 5 are multiple choice type questions.
Internal choice has been provided in question numbers 6 to 26.

2
3
4. Mark allotted to each question are written in front of question.

Q 1. Choose the correct answer:-

(51
1) If the product of two number’s is equal to 32 And LCM of these numbers is 8 then HCF will

be:
s (a) 4 (b) 8 (c) 32 (d)y 256
i) ™ The decimal expansion of g is
{(a) Terminating (b) Non terminating recurring
(¢) Non terminating non recurring (d) None of these
1ii) Zeros of polynomial x* +7x +10 is
' (@2,5 (b -2,-5 () 2,5 d 2,-5
1v) @, B,y are the zeros of polynomial ax® + bx® + cx + d then the value of afy is
(a) -b/a (b) c/a (c) -d/a (d) ab
v) Zeros of linear polynomial ax+b is
(a) a’b (b) b/a (¢) -b/a (d) ab
Q 2. Fill in the blank:- (59

i) Probability of impossible event is ................

11) Probability of Definite event is ................

iii) There are ................ days in leap year

iv) In a throw of a die the probability for getting odd digit is ................
v) The term of maximum frequency is called ................

Q 3. Write True/False:- 151
(i) Algebraic expression x? — 2Vx + 7 is not a polynomial.
(i1) Degree of a zero polynomial is 0.
(iii) H.C.Fof 4 and 7 1s 28
(iv) For equation ax? + bx + ¢ = 0, Sum of the roots of is — £

a
(v) If b — 4ac = 0 then quadratic equation ax? + bx + ¢ = 0 has two equal roots.

Q 4. Match the column. 151
IA!‘ lB!
. Q1 h_, . .
() . # . a. Linear equation
oy @y b_l & . . .
(ii) ekl # ~ b. Lines intersecting {
(i)=2=2 c. Straight line
as hz (=]
(iViax+by=c¢c d. Lines parallel ©) _
(v) Graphofax+ by =—¢ e. Lines coincide 3

Q 5. Answer in one word/ sentence.
(i) Write formula for finding mean of group=d data by direct method.
(1i) Write the formula for finding mode of grouped data.
(iii) Write formula for finding median of group=d data,
(iv) Write class mark of class interval 10-25.
(v) Write relation between mean, median and mode.
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Q6.

Q7.

Q8.

Q9.

Q 10.

Q.11.

Q.12

Q.13,
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Write Euclid’s Division Lemma.
or

Use Euclid's division algorithm to find the HCF of 135 and 225
Find the zeroes of the quadratic polynomial x2 —2 x - 8. [2)
or

Find a quadratic polynomial, the sum and product of whose zeroes are 1 and -1
respectively. 4

Fi
ind the number of zeroes of P(x) represented by given figure. (2}

or
Wei .
nte relation between dividend, divisor
A box containg 3 blue,

th
€ box, what is the probabj 1 & marble is drawn at random from

or -
IfP(E) = i ’
(E) = 0.05, What is the Probability of ‘not E*?

Show that ey, or ™
€Iy positive i : e
of the form 201 1 Wherec;li::;;ltcger 15 of the form 24, and [3]
me inte » and that iti
Di ger, Very positi i
vide the Polynomiq) P(x) by th, e
Pix) =x3_  Polyno
(%) =x3- 3,2, Sx-3, glx)=x2 _, "0 sag find the quotient apg
réemainder
Find the Sum and prod o [3]
r
uctof zergs Of quadrat;
The cost of 2 kg of Apples N el zeha T
m . . Aft
Iomh, the cost of 4 kg of l::l:skg ot: vl day was fo d
. EEbr‘Ic.“y and and 2 kg of und to be (160
metricalty EBrapes is ¥3p0, Reprey cituati
. ent the situnt]
) or [3?
xs: dl:hmation method to fing solutio
ye12 n of the followin fl
rire g pair o NEAr cquations
Find the ro
Ots of quadratic equations x?— 3y _ 10=¢g
(3]

OR
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Find the nature of roots of equation 2x%— 3x + 5=0

Q. 15. Show that any positive odd integer is of the form 4g + 1 or 4¢ + 3, where g is some
integer.
[4)
. OR
Prove that is 3 + 2 V5 a irrational number.

Q.16. Check whether the first polynomial £ 2 _ 3 is a factor of the second polynomial
2 t4+ 363- 2 t2— 9¢ - 12 by dividing the second polynomial by the first polynomial. [4]
or
Find the zeroes of the quadratic polynomial 3x*-x — 4

Q.17. Find the values of k for quadratic equations 2x2 + kx + 3 = 0, has two equsl roots. (4]
or

Find the roots of the following equations: x — = = 3,X # 0
x

Q.18. The 17th term of an AP exceeds its 10th term by 7. Find the common difference.  [4]

Or
Find 10th term of the AP : 3,8,13,18, ...,

Q.19. The difference between two numbers is 26 and one number is three times the other. Find

them. [4]
or

Ritu can row downstream 20 ki in 2 hours, and upstream 4 km in 2 hours. Find her speed of

rowing in still water and the speed of the current. https://www.mpboardonline.com

ry work in 4 days, while 3 women
1 woman alone to finish the

[4]

Q. 20. 2 women and 5 men can together finish an embroide
and 6 men can finish it in 3 days. Find the time taken by
work, and also that taken by 1 man alone.

or
Solve the following pziirs ot; ;quations by reducing them to a pair
1, 1 1 _13

21+§;r_ '31+2}’ 6

of linear equations:

Q. 21. Find a quadratic polynomial for the given numbers as the sum and product of its

zeroes —3 and 2 respectively. [4)
or
Divide 3x® + x2+2x+5 by 1+ 2x + x?
7x + 3 = 0 by factorisation. [s)

Q. 22. Find tbe roots of the equation 2xt -
or

Find two consecutive positive integers, sun: of whose squares is 365.

—sz-lox-s,ifmooﬂuuroes-ref:- and—Jg.

Q. 23. Obtain all other zeroes of 3x* + 6x°
(5]

or
On dividing x3 - 3x2 4 x + 2 by a polynomial g(»), the quotient and remainder were x
— 2 and —2x + 4, respectively. Find g(x).
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i i . ns have no solution?
Q. 24. For which value of k will the following pair of linear equation

Ix+y=1
(2k-1)x+(k—1)y=2k+1
or
Solve the following pair of equations by substitution method:
3x + 4y = 10_
2x =2y =2

ir environment awareness
Q. 25. A survey was conducted by a group of students as a part of their e T tants

programme, in which they collected the following data regarding the num (5]
in 20 houses in a locality. Find the mean number of plants per house.

Numberof | 9.2 | 2.4 4-6 6-8 8-10 10-12 12-14
plants
Number of 1 2 1 S . 6 2 3
houses
| OR
During the medical check-up of 35 students of a class, their weights wer= recorded as
follows:
Weight Less Lessthan | Lessthan | Lessthan | Lessthan | Lessthan Less than | Less than
(o kg) | than 33 40 42 44 46 43 50 52
Number
 of 0 3 5 9 14 28 32 35
Lstudepts J
Draw a less than type ogive for the given data.
Q.26. The following distribution gives the daily income of 50 workers of a factory. [5]
Daily income 100 -120 { 120 -1 - - -
— 40 | 140 — 160 | 160 — 180 | 180 — 200
Number of 12 14 8 6 10
workers

Convert the distribution above to a less than type cumulative frequency distribution and draw

its ogive.
OR

The distribution below gives the weights of 30 students of a class. Find the median weight of

the students. =
Weight (in | 40 — 45 [ 45—-50 | S0—-55 | 55—-60 | 60-65 | 65-70 | 70~ 75
ke)
Number of 2 3 8 6 6 3 2
students l
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